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Which triangles are similar to triangle A?
[2 marks]

Answer
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Not drawn
accurately

32cm

28°

Are these triangles similar?

Yes No

Give a reason for your answer.
[2 marks]

Turn over for the next question

Turn over »
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3 (a)

3 (b)

Triangles ABC and PQR are similar.
Angle BCA and angle PRQ are the same.

2cm

30°

7cm

Work out angle QPR

Answer

Work out the length of BC

Answer

6.1cm

cm

Not drawn
accurately

[2 marks]

[2 marks]
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Not drawn
accurately
10 cm
X
-
6 cm 12 cm
Work out the length x
[2 marks]
Answer cm
Are triangles ABC and PQR similar, congruent or neither?
You must give reasons and show working for your answer.
[3 marks]
B Not drawn
accurately
4.2cm
) &
48°
C
Answer

Turn over »
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6 (a)

6 (b)

Describe a shape that is similar but not congruent to a regular hexagon with sides

of 5cm.

Describe a shape that is congruent to a circle of radius 2cm.

[1 mark]

[1 mark]
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Triangles ABC and JKL are similar.

C

G\

10cm y cm

40°

12cm

Work out the values of x and y

Give your answers to 1 decimal place.

20cm

J Not drawn

accurately

40°
x cm
& K
13cm
L
[3 marks]

Turn over for the next question

Turn over »
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8 (a)

8 (b)

AB and CD are parallel lines
AD and BC meet at X.

A 4 cm B R
5cm

X
C 10 cm D

Show that triangles ABX and DCX are similar.

Work out the length of XD.

Answer

cm

[3 marks]

[2 marks]
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9 A and B are similar shapes.
B is an enlargement of A with scale factor 2.5

A 17 mm
B
a
46 mm

Work out the lengths of @ and b

END OF QUESTIONS

Not drawn
accurately

[2 marks]
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